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1) 2 x 13

2) 2 x 2 x 3 x 5

3) 2x?x?x3

4) lli- ~x'3x3 -Si
24 - ~ x2 x2 x'3 - 4,

5) 1.§..= ~x5. =1
30 2 x'3x5: 2

6\<"_8 8 _ 16 . 16 _ 1
/- 32 + 32 - 32 -r- 16 - 2}

7}" ill _ JL = .£.+ g, = 1.
16 16 16 28

6 7 13'
8) 21 +21 = 21
9) .£.+ ..§... = 2 + 6 = g, +£ = 1

12 12 1 6 2 3

10) §. x~ =.1.§.+Si =..§..
v 9 7 63 3 21

8 3 24 4 611) -x-=-+-=-
11 4 44 4 11

12) done

813) 178 53

1114) 26189

15) 1I6x12=2

3 1 24 4 28. 4 7
16) 4+'8= 32 +32"= 32"~4= '8

17) 2,845.;- 5 = 569'

18) 528 x 73 = 38,544

13E

1) 3x3x3x3
2) 2 x 3 x 3 x 5
3) 3 x 5 x 5

4) JL=~x2x2='±'
22 ~ x11 11

5) 32 = ~ x~ x~ x~ x2 = £
48 ~x~x~x~x3 3

6) ..§...+..i.. = ill +£ = §.
12 12 12 2 6

18 9 9. 9 1
7) 27 - 27 = 27 ~ '9 = '3

30 5 35. 5 7
8). 50 + 50 = 50 -r- 5"= 10

g\~~+ ~~ = 16 ~ 48 = ~~ + ~~ = 3
" 5 2 10. 2 5

10) 9" x 6' = 54 -r- 2 = 27

11~ g,x~=...§..+g,=.Si..
5 4 20 2 10

12) 30 < 32
48 48

7 6
13) 21>21

14) 40 = 40
80 80

15) 29 28 or
38

16) 122 2~ or

97
17) 21 235

18) 45 x 365 = 16,425

12 15 27
19) 36"+ 36 = 36

2911.
19

122.1.
11

27 . 27 60 1,620 .
20) 36 of 60. 36 x -1- =36 = 45 min.

3/4 of 60: 60.;- 4 = 15; 15 x 3 = 45
The reduced fraction is easier to use.

13F

1) 2x2x2x2x2x2

2) 2 x 2 x 2 x 2

3) 3 x 3 x 5

4) .§1= '3 x'3 x 3 x 3 = JL
90 2x'3x~x5 10

5) g = ~ x2 x'3 = £
18 ~x'3x3 3

18 8 26 2 13
6) 48 + 48 = 48 +2 = 24

7) 45 _ 20 = 25 + 25 = 1.
50 50 50 25 2

12 6 18. 6 3
8) 24 + 24 = 24 -r- '6= 4

9) ill + 20 = 10 + 20 = .!Q.. + ill = 1
50 50 1 20 10 2

10) ixg,=..§...+§.=1.
7 8 56 8 7

11) .§...x Si = .1.§.+ .1.§.= 1.
12 5 60 15 4

60 77
12) 110 < 110

9 16
13) 36 < 36

14) 1.§..>R
36 36

15) 37 69 or 37 ~
96 32

16) 98 38
73

17) 56.11.1 or 56 37
120 40

18) 2,075.;- 25 = 83

6 3 9 1
19) 18+18 = 18 = 2

1 1 8 2 10 5
2'+8'=16+16=16=8'

20) §. -.§. = ~
888

14A

1) done

7
2) 10
3) g,

3

4) ~
7

5) done

6)
I I I I I I

7) done

8) g=~
16 4

9) JL = 1
16 2

10) .Si..
16

11) li=z.
16 8

12) ill = §.
16 8
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14B 14C 140 14E I~I

1) 1 1)
.2...

1) I 1) g=l. 1)
3 10 8 6 3 3

2)
§.

2)
.1;

2) ,;a=1. 2)
§.

2)
.±.. = g

8 7 6 2 7 10 5

3)
§.

3) ,;a 3) ~ 3) 10 5 3) L6 6 16 16=8" 16

4) 2- 4) 1 4) 14 7 4) 2- 4) 1.§.= 1
10 4 16=8" 16 16

5)
I I

5)
I I I I I I

5) 2xfh7 5) 2 x 5 x 7 5) 2 x 3 x 11
I I I I I I I 6) 5 x 11 6) 3 x 3 x 5 6) 2 x 2 x 7

--
7) 2x2x3x7 7) 2x3x5 7) 2x3x3x3

6)
I I

6)
I 8) 48 = 8) 33 = 'g x 11 11 8) 75 3x5 -s 3

= 21 -= ="4I I I I I I 64 63 ~x3x7 100 2 x2 x5 -s
'2 x'2 x'2 x'12x 3 =l2. 9) 8 x 5 = 40 sq. in. 9) 3 x 2 = 6 sq. in.'2 x'12x'2 x'2 x2 x2 4

..1. 9) done
10) 90 x 45 = 4,050 sq. ft. 10) 11 x 6 = 66 sq. ft.

7) 7) 11 11) 28 x 15 = 420 sq. yds. 11) 35 x 19 = 665 sq. yds.16 16 1.0) 20 x 10 = 200 sq. ft.

8) 4 1 2 1 11) 15x7=105sq.yds.
12) no 12) yes

16="4 8) -=-
13) 21:;3.,Z,2116 8 13) 24:g,;3.,1,Q, 8,12, 24

L 6 3
12) no

9)
16 9) -=- 13) yes

42:2,;3., 6,Z, 14,21,42 36:g,;3.,1,Q, 9,12, 18,36
16 8

10) 1.§.= 1 ~4) 12:~~4,~ 12 GCF= 21 GCF=12
10)

.R.
16 16 3 1 3 3 1 14) 1.§..+.L = 25 no18: g,;3.,Q,9, 18 14) -x-=-+-=-

4 3 12 3 4 42 42 4211) 1.§. 11) II GCF=6 8 9 2 3 15) ..§...+1=48+1£.=16 16 15) 12 <12 so '3 <"4
8 1 15) 25:~,25 12 6 72 72

12) 16 = 2' 12) ia =,;a
9 8 1 48 + 12 =416 4 50:2,~,25 16) 12 - 12 = 12 cup 1

GCF=25
17) 15 + 13 + 15 + 13 = 56 ft. 16) 36 x 12 = 432

16) 15 x 13 = 195 sq. ft.
18) 3/4 of 56 = 42 17) 2,160 -;.432 = 5

56 - 42 = 14 ft. needed 18) area en
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